TG LT/ ER 5H TER

R6. 4. 22F(E
ERITE ¥ N 4T &= 4R 24 BRI A4EI AR 64 e e
1| Kk [REPH 4.4 5 5 5 5|0
o | % WEYT—14:00TH HUSIERAR 4 4 4 4 4 alO
3 | & |[EEERH
4 | + HEYDAH
5 | g ZELDHE
6 | g [EEKE
7 |« [BRSE IBOH ERFHEDS 6F 4 4 5 5 5 5|0
gykﬁ%ﬁﬁ12¢ﬂm 4 4.4 4 4 4]0
o | x [BFEER 7oTAED BORECH T&2NGREIR(1EF) 5 5 5 5 5 5|0
10| ¢ |[FE2Q 15£2025% 4 4 5 5 6 6|0
1| £
12| B
13| A CEFSEHEMSHREIEE~5A24H) ZEMNDA BER#KRZ4-5-65 4.4 5 5 5 5|10
14 | x [FHRHEZS45 55555 5[0
15 | K SERBHE 5:5:5:5 5 5|0
16 | x |ABHRET-2-45 5.5 5 5 5 5|0
171 2 |7v5 (TEDVDVAEAL) 4:4:5:5:5: 5|0
18| £
19| H
zoﬁﬂﬂﬂ*ﬁ123¢ 4,4 5 5 5 5|0
21 |k [POEEHEBEIE Haries 28 44 5 5 5 5|0
99 | ik EBI=HE 4 4.5 5.5 5|0
03 | & [EBREHE 4 4.5 5 5 5|0
MPNEEEED 4 4 5 5 5 5|0
o5 | + [EBIR 4 4 44 4 4|x
26 | @ | EBE26ECEHOBEE 258 K2
27| B REAKXRA(5A258%) %£ikEA
08 | w BEEFXPHER 14:00 ERH 1315 4444 4 4]0
29 | 7 FREERZESD(£3E)1440~16:10 EERZ (1M1, 1D2, 301, 3M2) 5.5 6 6 6:.6l0O
30 | & AFRZE1-28H(BTRE) ®wREZ2 (201, 202, 601, 6M2) 5.5 6:6:6:6|0
31 | & [PEREES AR (RFRF) ZAZ0 45 56 6 6lO
21— BEO® A&ar 90: 91: 103: 104: 105; 105] 20
37— 1 e, 148: 153: 179: 180: 184: 184] 33
i< v EERE 148: 153: 179: 180: 184; 184] 46

EXDTREZ

SHREHRFIZER T 11: 20FR-IRYNDE 11 :50ETK

AR

WELEL—12: 10E T

HWBE-BRARAH R IFYDE—14:00E T

SHREHREBER T 14:200RYDE—14:50LF T

BRI LR T15:10>BYDE—15: 40 TR

KELDFEHEIFER
EGOTHYFEI DT

T AELEEL,




